
Table 2 Variance analysis of CK, 10 Gy, 40 Gy 

Dose(I) 

(Gy) 

Average height 

(cm) 

Dose (J) 

(Gy) 

mean difference 

(I-J) 

Standard error P value 95% confidence intervals 

Minimum    Maximum 

0 123.5 10 -24.80677* 6.83885 0.000 -38.24 -11.37 

40 -28.50000* 6.81928 0.000 -41.89 -15.10 

10 146.1 0 24.80677* 6.83885 0.000 11.37 38.24 

40 -3.69323* 1.82116 0.043 -7.27 -0.11 

40 156.0 0 28.50000* 6.81928 0.000 15.10 41.89 

10 3.69323* 1.82116 0.043 0.11 7.27 

Note: 0 is the CK; * significant at the 0.05 level 

 


